MIA M DADE MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAM], FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Simonton Windows
One Cochrane Drive
Pennsboro, WV 26415

ScorE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHIJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series “StormBreaker Plus” Extruded Vinyl PVC Casement Window

APPROVAL DOCUMENT: Drawing No. S-2379, dated 8/25/03, with revision #1 dated 10/6/03, titled
“Extruded Vinyl PVC Casement Window up to 91” x 65”, sheets 1 through 8of 8, prepared by RW Building
Consultant, Inc., signed and sealed by Lyndon F. Schmidt, P.E., bearing the Miami-Dade County Product Control
Approval stamp with the Notice of Acceptance number and approval date by the Miami-Dade County Product
Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved"”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence pages E-1 and E-2, as well as approval document mentioned
above. :

The submitted documentation was reviewed by Manuel Perez, P.E.

( NOA No 03-0915.01
Expiration Date: November 20, 2008

Approval Date: November 20, 2003
Page 1




Simonton Windows

NOTICE OF ACCEPTANCE:  EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer’s die drawings and sections.
2. Drawing No. S-2379 titled “Extruded Vinyl PVC Casement Window up to 917 x
65”, sheets 1 through 8 of 8, dated 8/25/03, with revision #1 dated 10/6/03,
prepared by RW Building Consultant, Inc., 51gned and sealed by Lyndon F.
Schmidt, P.E.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 3603.2 (b) and TAS 202-94
along with marked-up drawings and installation diagram of vinyl PVC casement
windows, prepared by Certified Testing Laboratories, Test Report No.
CTLA1130W, dated 08/07/03, signed and sealed by Ramesh Patel, P.E.

C. CALCULATIONS ‘
1. Anchor Calculations and structural analysis, prepared by RW Building
Consultants, Inc. dated 8/29/03 and 9/2/03, signed and sealed by Lyndon F.
Schmidt, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS

1. Notice of Acceptance No. 01-1204.01 issued to E.I. DuPont DeNemours for
“Sentry Glass (R) Plus” dated 01/17/02, expiring on 01/14/07.

2. Notice of Acceptance No. 01-0205.02 issued to Solutia Inc. for their “Saflex
/Keepsafe Maximum” dated 05/17/01, expiring on 05/21/06.

4, Notice of Acceptance No. 00-0815.01 issued to Sim Ex, Inc. for their “PVC
Exterior Profile Extrusions” dated 10/12/00, expiring on 10/12/03.

5. Notice of Acceptance No. 02-0927.02 issued to Veka, Inc. for their “White Rigid
PVC Extrusions for Windows and Doors” dated 12/12/02, expiring on 03/04/07.

WMM

Manuel Perezg:?f
Product Control Exa r
NOA No 03-0915.01

Expiration Date: November 20, 2008
Approval Date: November 20, 2003



Simonton Windows

NOTICE OF ACCEPTANCE:  EVIDENCE SUBMITTED

F. STATEMENTS

1. Statement letter of conformance and no financial interest, dated September 2,
2003, signed and sealed by Lyndon F. Schmidt, P.E.
2. Statement letter of no financial interest, dated June 17, 2003, signed by Allan

Crum, Testing Manager, Simonton Windows.

G. OTHER
1. None.

C Manuel Pe .E.
’ Product Control iner

NOA No 03-0915.01
Expiration Date: November 20, 2008

Approval Date: November 20, 2003



SIMONTON®

I N D

Z

1 Cochrane Avenue Pennsboro, WV 26415 Ph. 800.426.2249

StormBreaker Plus

Extruded Vinyl PVC Casement Window
Impact Resistant

367 MAX. |
FRAME WIDTH
_ 29.125"
MAX. D.L.O.
. 2NN i BV
s 9Oy 9
. % /
w8 3G i
$¥ Ya y
ST 4
o <+
° [
. B

1

36" x 50" CASEMENT WINDOW

SERIES 5500

DESIGN PRESSURE RATING

+50.0 PSF -50.0 PSF

GLASS A"

1 30" MAX.
FRAME WIDTH
23.125"
u MAX. D.LO.[ |
q
| T
2 S /
I 3 M 2N
g VAR AR A BV
< <
g = /
iR 4
= = /
- /
[Ka]
R

D

30" x 65" CASEMENT WINDOW

SERIES 5500

DESIGN PRESSURE RATING

+50.0 PSF -

-50.0 PSF

GLASS A7

@ENERAL NOTES:

3.

No»

THIS PRODUCT MEETS WATER REQUIREMENTS.
A SIMONTON FIXED FRAME WINDOW MAY BE SUBSTITUTED FOR ANY UNIT IN THE TRIPLE MULLED
UNIT COMBINATION WITH SUBMITTAL OF A CURRENT FIXED FRAME WINDOW NOTICE OF ACCEPTANCE

1. THIS PRODUCT IS DESIGNED TO COMPLY WITH THE "HVHZ” FLORIDA BUILDING CODE.

2. WOOD BUCKS MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO STRUCTURE AND TO BE
REVIEWED BY BUILDING OFFICIAL.

PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS SHOWN ON DETAILS. ANCHOR

EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

‘51. FOR DESIGN PRESSURE RATING SEE DIFFERENT CONFIGURATIONS, THIS SHEET.

. WHEN THIS PRODUCT IS USED.IN AREAS REQUIRING WINDBORNE DEBRIS PROTECTION, FLORIDA
BUILDING CODE APPROVED IMPACT RESISTANT SHUTTERS ARE NOT REQUIRED.

S

4

TABLE OF CONTENTS

o
N
[1s]
2
. gn 2,
2,08
3T e Ms}¥
” % %_80'; E.g H
91” MAX. FRAME WIDTH s ELBS2 ¥
a a>n 3( E
1 30" MAX. || 2325 | 8 %23% 5 \g
SINGLE UNIT MAX. D.L.O. S o8l
X o+~ W
q 2 %OZ B c
8 5% 8 0
$2g6%t B
p IR
| / 7 ks
T y 2
: g
CRS y 7 % % ¢
¥ <
(]
y
d 2 M y AN AV
: 2 9 T 119 o | .o
0« 4 =Ny )=
g = v >£4 B
= o] //// ST =3
s 0 Vi / Sold W
'e} / auz.n % :Cl_l
T [l | ﬂ S5R1E 88
s |E
a a
91" x 65" CASEMENT WINDOW T
SERIES 5500 TRIPLE MULLED el
DESIGN PRESSURE RATING
+50.0 PSF —50.0 PSF
GLASS "A”
178}
5 15
G @
o
al =
3
'l
||
Q.
M
s
O
N
18
=z

Approved a8 complying with the

baTE: 8/25/03

scaLE:  N.T.S.

Fiorida Buiding Code -

SHEET |# DESCRIPTION SHEET # b O 26" 200 owe. 8 ROF
! GENERAL NOTES & TYPICAL ELEVATIONS 5 ANCHORING LOCATIONS %ks&@aée?méuﬁ(j«waé CHK. B Rw
2 VERTICAL HORIZONTAL CROSS SECTION 6 ANCHORING LOCATIONS P DRAWING NO.:

3 HORIZONTAL CROSS SECTIONS . 7 COMPONENTS & BILL OF MATERIALS S—2379
4 HORIZONTAL CROSS SECTIONS & GLAZING DETIAL 8 ASSEMBLED MULL & ATTACHMENT VIEW o 1 o 8




. T uopuk SNOISIATY —
6ovEy "ON ‘F'd SPIUYDS 4 UopUL] SNOILOIS SSOHD TWOLLY3A JG 3IVA_[ON|m| o . 8_
£0/91/01 lﬂh&\ HEL MI[37 3ava 83d[£0/9/00 L |Q|4(SIF| 2,
c1g6 -oN"uopozubUInY 4O S1D2uRIeD T@AISSY Uo 1avd |21z PR
m\_Om_E_mr_u _UCD_MWD&O-_G_ jo pibog UU_._O_L mm x —m o.h- &D / ) S _ 2_
L6LE'659°CLE ON 8uoud a v IRISYD 8 £zle o
geGEs 14 99MIPA 0£Z *x°8 "O'd MOAGNIM L Sl l®|®|E .
-ONI ‘SLNVLINSNOD oz_.u‘__:m\h\w@ IAd TANIA Qumbwt..xm - m m m w m _m
:Ag padtpdeid SjUSWINOOQ UGRDAIDAZ 3onpoid :10Nnao
Ms_ o ,
& VBN
SN
%e@ Y
w.pw% &
- B\
. 22 EBN
.z_zmzwm._ e mn ._
" e e m p - .i [
28 %mﬁﬁ@
_AIHS aN3 NN
] XYN ST o Tl
Q
g
= @
Q [ S
& N
_mlm m M < . 9
o~ g
5 " W M) T — -
N = > ™ o
~— m w o~ L v < AA m
A7 P
=] : o
g 1/ 3 %B
— ; Sy &l <
- 100 ﬂw = _%D% i v W_N_
— = X nm v 82
. 95
() . Ly o _m
ﬁ N—DD D:m : . N - B WO
\ : [
, — I LA (R
. 5 L
Q A
= e,
= % o<
Z
- i T
(=) ;

L WS
. =z
-an3 XYW .S num
NIA LGL'L . S anz
2 v = Sl
v (@ i
= % 0}
L M L M W N
T A
o~ Q < T
— INI o) L
T (P ~) =
! =
= Q
1S wlm = %
(NN C__—7% )
mZ CU— U =m 9
| | <
= ﬁ = CnUD,,
= =0 g
N 0 /| 3
- / =
>l
,e_ I _ ]
R

INTERIOR

{5




1.15" 25" MAX. __ 3
MIN. EMB. ' SHIM , £
’ > 12 % gg - 3
12 9 S L I
22\ 3 g Ygf ¥
EXTERIOR EXTERIOR 5§ sn 37
2 \ ag” 5N 2
S = £ .50 22N u
Lo ,\D — ‘9 g og! %.U [L.
“ Lo g co © 5 -
SN I s [ é"z%“u%‘t%\{,i
S ] o] ™ gp vt °F
> . 0 Z20m uw O
o . D { Q 8 P! . 50 n
S - < o D / = é 0 5% ‘8% L;
b T T (923 Sgfege g
. 23 Z= Z = ST 2506 %t 2
. . > 3 > 2 O c Do §
L ‘ =0 INTERIOR INTERIOR = ¢ 16 A f | onLete S
- , 14 -9 -9 @/ E §
> O (@)
.. £ &
S
: 1.33" o =
, MIN. EMB. &3 &
/1) _HORIZONTAL CROSS SECTION 2\ HORIZONTAL CROSS SECTION =N 0
\.3_/ 2X suB BUCK 3/ 2X SUB BUCK g=. 1., &
—| >
azolg S
E§E Z =
1.25" 2044 £
L 25" MAX. 25" MAX. 1 N S N
S MIN. EMB. 518 N
SHIM | SHIM — 2 o &
o) B I
3 [0 <C
4 o
12
2 S\
EXTERIOR EXTERIOR
1.25" | o
MIN. EMB. — ,
‘ ] aac ]% . e !
L] . 52
i ANy e
'j (7 al al o
) ~ | =
' 23) ZF wl| |2
T3 =" INTERIOR INTERIOR =)
' 14) 3 % 3
o |
M
- (@)
OO W RE
NS
@ /1°\ HORIZONTAL CROSS SECTION {2\ HORIZONTAL CROSS SECTION —
\_3_/ OPTIONAL 1X SUB BUCK \3_J OPTIONAL 1X SUB BUCK pure:_8/25/03
’ proved mnlying with the ScAlE:  N.T.S.
boiding Codo DWG. BY:  ROF
MNOV. 20, 2003
£ O2-0815,01 CHK. BY: RwW
"if*f&ii& Product Cantyel pRAWING NO.:
S-2379
SHEET 3 ofF _8




10/16/03

. in 2,
) w8 | 9
§ 48 %[ g
¢z2” §cf z
£ .go =] u
w 28N, o
t 282 25 .
AR A\
§a>rri“6 €
838° 5 N\
O~ - 0
§gy28g v
EXTER|OR -'g'émw .g.g g
25558 ¢
W aod Lo )
SEE NOTE 2 EE:
3
v
o
Z w0 o %’;
E% )
=© @\ S
=5 2=
[{e]
1/8” TEMPERED GLASS ng ol
2 |
2= |, So
5625” AIR SPACE EEO,;;; 52
. (@) ~d
—_— 1/8" ANNEALED GLASS %Lﬁ'-@ gé
-1 ' Qa
£ .090” PVB 55532 S
_— o X
1/8” ANNEALED GLASS 3 2
o <
o a
I\
- GLASS "A" .
INTERIOR 10" INSULATED IMPACT RESISTANT
< GLAZING DETAIL SAFLEX/KEEPSAFE MAXIMUM OR  SENTRY GLASS PLUS
HORIZONTAL CROASS BY SOLUTIA, INC. BY DUPONT
, | ol o
E| S
wl |
|
i Lt
LOIJ o
<
NOTE; a
1. THE OPERABLE CASEMENT FRAMES ARE ATTACHED TO THE MULLION o
WITH (4) #8 X 1 3/4” PHILLIPS FLAT HEAD UNDER—CUT SCREWS o
SPACED FROM THE TOP DOWN 6.0”, 29.5”, 35.5”, & 59.0". M
2. THE NO HINGE CASEMENT FRAME IS ATTACHED TO THE MULLION e
WITH (5) #8 X 1 3/4” PHILLIPS FLAT HEAD UNDER—CUT SCREWS IS
SPACED FROM THE TOP DOWN AT 6.0, 19.5", 32.75", 46.0”, AND =
59.0”, s}
’ =

ATE: 8/25/03

Approved as complying with the soue  N.T.S.

Florida Buiding Code DWG. BY: ROF
pate NOV. 20, 2003

NOAF 0.3-0818, O] CHK. BY: RwW
Mism! Dade Product Copirol DRAWING NO.:

By $-2379

SHEET. 4 ofF 8




L8]
o
N
Ll ©
n = N
Be W ow® 2% $m o
wl Ll . . 5 .E‘— o
2 =z . . O . n %U) . 9. 0 b o W <
0~ . E i o 0 NOTE 6 SHT. 5 ., E& £ .8 s2lg
N 9.25" SEE WL ™ am : 095 827 5c\\ =
O NOTE 2 SHT. 5 » W T ¥ £ £°05 82 Qu
»Y 5 % Ll | L gE2 N 4
, z - -0 NO ! | s £55 SN A
=z =z T c 2 00 L0 -
L4 L L o T o W
T 1 T <
° o : s VT[T TR AN N
= BT T L S0 " % = w || 0Bz 2% Z° % SLFE VO
T . 9, @ Z 5 o - z © © Mz W W Zan s oxz0g
B MmET . . LE of B 10 i e TZR, 08 =
N5 © 0 M % o Ll > @ @ n O oW W 29 .25 3
- Ll - - L nyv 6 Z D = S L _ _ N LI % I 5 0 ® 50265 5
N 0= @ M Lo+ KM e % o 25 A N 1 Te) 0 n > O @oaT o 3
{ c_ | = me W = ‘ ‘ e = o 13
LI £ i < ¥ Lo ol = ¥ ;o |* @%
l('})‘l -T ——“—r ; :LO 0 —_t T T - T ' * ©
. - T 0 f ! o
2 O L0 : :
? % K : e " Q 2
-0 T B & 9] 3
1 J_ @J_ = = _‘Q(D ~T
- ] L : w© w == x L
. n z=. S
/ — SNUBBER JAMB | {17 e~ b
VA ! T B E 2
f J . LuLUO ==
KEEPER JAMB 925" SEE = SNUBBER ' JAMB SR &
" NOTE 2 SHT. 5 KEEPER JAMB —/ 1 { . .. Eg%% 2;3
‘ | 9.25" SEE olu™ g =
ANCHORING LOCATIONS 36" x 50" UNIT “NOTE 6 SHT. 5 ) =
. VIEWED FROM INTERIOR & =
ANCHORING LOCATIONS 30" x 65" UNIT
VIEWED FROM INTERIOR s

NOTES: '

1. THE DIMENSIONS AT THE KEEPER JAMB FROM TOP DOWN AT 5.257, 23" & 43.5” ARE TO THE CENTER LINE OF THE TIE BAR GUIDES. THE TIE
BAR GUIDES ARE ARE ATTACHED TO THE FRAME WITH (1) ITEM #19, #8 x 3 1/2” PHILLIPS FLAT HEAD SHEET METAL SCREW & (1) ITEM
#27, #8 x 1 1/4" PHILLIPS FLAT HEAD SHEET METAL SCREW.

2. THE DIMENSION AT THE HEAD & SILL 9.25" IN FROM THE SNUBBER JAMB CORNER IS TO THE THIRD HOLE IN THE HINGE TRACK. USE [TEM |2
418, #8 x 2 1/2” PHILLIPS FLAT HEAD SHEET METAL SCREW. THE OTHER THREE HOLES IN THE HINGE TRACK USE ITEM #24, #7 x 1/2" 5 5
PHILLIPS FLAT HEAD SHEET METAL SCREWS. e

3. THE DIMENSIONS FROM THE TOP DOWN AT THE SNUBBER JAMB AT 16.125", 24.125" & 31.875" ARE TO THE CENTER LINE OF THE N E
LOCKING SNUBBER. THEY ARE ATTACHED TO THE FRAME WITH (1) ITEM #22, #8 x 1/2” PHILLIP FLAT HEAD SHEET METAL SCREW & (1) =
ITEM #25, #8 x 2" PHILLIPS FLAT HEAD SHEET METAL SCREW. =

4. THE DIMENSIONS FROM THE TOP DOWN AT THE SNUBBER JAMB AT 9", 25" & 41.5" ARE TO THE CENTER LINES OF THE ALIGNMENT x
SNUBBERS., THEY ARE ATTACHED TO THE FRAME WITH (3) ITEM #23, #8 x 3/4” PHILLIPS FLAT HEAD SHEET METAL SCREWS & (1) ITEM # o
18, #8 x 2 1/2” PHILLIPS FLAT HEAD SHEET METAL SCREW. pa

5. THE DIMENSIONS AT THE KEEPER JAMB FROM TOP DOWN AT 4”, 30.375” & 58.5” ARE TO THE CENTER LINE OF THE TIE BAR GUIDES. THE Sl
TIE BAR GUIDES ARE ATTACHED TO THE FRAME WITH (1) ITEM #19, #8 x 3 1/2” PHILLIPS FLAT HEAD SHEET METAL SCREW & (1) ITEM IS
#27, #8 x 1 1/4” PHILLIPS FLAT HEAD SHEET METAL SCREW. 2

‘6. THE DIMENSION AT THE HEAD & SILL 9.25" IN FROM THE SNUBBER JAMB CORNER IS TO THE THIRD HOLE IN THE HINGE TRACK. USE ITEM 2|
418, #8 x 2 1/2” PHILLIPS FLAT HEAD SHEET METAL SCREW. THE OTHER THREE HOLES IN THE HINGE TRACK USE TEM #24, #7 x 1/2 ,
PHILLIPS FLAT HEAD SHEET METAL SCREWS. DATE:_8/25/03

7. THE DIMENSIONS FROM THE TOP DOWN AT THE SNUBBER JAMB AT 23.57, 32.5" & 41.5" ARE TO THE CENTER LINE OF THE Approved as complying with the  |SCAE: N.T.S.
LOCKING SNUBBER. THEY ARE ATTACHED TO THE FRAME WITH (1) ITEM #22, #8 x 1/2" PHILLIPS FLAT HEAD SHEET METAL SCREW & (1) gmru}:"ﬁidmtw@gs owe. B:  ROF
TEM #25, #8 x 2" PHILLIPS FLAT HEAD SHEET METAL SCREW. ; Nng»l%»s,ag,:_gg.,‘,lﬁ_g- N cHk. B:  RW

8. THE DIMENSIONS FROM THE TOP DOWN AT THE SNUBBER JAMB AT 8.5", 32.5" & 56" ARE TO THE CENTER LINES OF THE ALIGNMENT | Rtiain{ Dade Frodust Controf e arTor
SNUBBERS. THEY ARE ATTACHED TO THE FRAME WITH (2) ITEM #23, #8 x 3/4” PHILLIPS FLAT HEAD SHEET METAL SCREWS IN THE MIDDLE . ), S_2379
TWO HOLES & (2) ITEM #18, #8 x 2 1/2" PHILLIPS FLAT HEAD SHEET METAL SCREWS IN THE TWO OUTBOARD HOLES. z z 2

SHEET _ 5 oF _8




6 SHEET 6)

W ‘@1 5" —| |—
~ M »
R % E s 1.5” » @’ 5” | e 7 9.25
TS 9.25 9.25 - ;5" - (SEE NOTE
oL (SEE NOTE (SEE NOTE 5 SHEET 6)
AN 5 SHEET 6) 5 SHEET 6) X
i o )
P L (onl I AT | |
1 1 s
2 ©0
[Ce) I
— 2.25" 2.25” T T
E 2.25 2.25 T e
Q=20 52 w8k
ST SEE NOTE Wzl N
™ L O 2 SHT. 6 WWwI WK
= Ll »n n
s |- . 8y Teo W
: §<o i gg?h . S
uN’) = E ' B @ —_ I I U(QJ )
A ¢ G. Ll
%] ~
\/ﬂ' P I
‘n ® ® [
KEEPER JAMB—\ /—SNUBBER JAMB
H 2.25" 2.25" —[ -
4 _ 2.25” 2.25" 41
© ™ ©
1 T (] ! 651
) 9.25” A 9.25"
(SEE NOTE —l—-— (SEE NOTE g.25"
5 SHEET 6) 5 SHEET 6) . (SEE NOTE
15” _»’-‘_ 1.5” 15" 1 SEE NOTE . 5 SHEE,— 6)
O @ 3 SHT. 6

ANCHORING LOCATION 91" X 65” TRIPLE MULLED UNIT
VIEWED FROM INTERIOR

NOTES:

. SNUBBER & KEEPER JAMB TO BUCK — (4) #10 X 2 1/2" PHILLIPS FLAT HEAD SHEET METAL SCREWS 6.0" DOWN
FROM TOP VERTICAL CORNER, 6.0” UP FROM BOTTOM VERTICAL CORNER & 3.0” UP & DOWN FROM FRAME
CENTER LINE.

. HEAD TO BUCK WITH MULLION CLIP (8) — (4) EACH CLIP #10 X 2" PHILLIPS FLAT HEAD SHEET METAL

SCREWS (1) SCREWS AT 1.5” AND 2.25” TO EACH SIDE OF THE MULLION CENTER LINE.

. SILL TO BUCK WITH MULLION CLIP (8) — (4) EACH CLIP # 10 X 2” PHILLIPS FLAT HEAD SHEET METAL
SCREWS AT 1.5" & 2.25” TO EACH SIDE OF THE MULLION CENTER LINE.
. THE DIMENSIONS OF 4.0", 30.25” & 58.25", FROM THE TOP DOWN ON THE KEEPER JAMB ARE TO THE CENTER

LINE OF THE TIE BAR GUIDES. THE TIE BAR GUIDES ARE SECURED TO THE FRAME WITH (2), ITEM #27 A
#8 X 1 1/4” PHILLIPS FLAT HEAD SHEET METAL SCREW.

. THE DIMENSION AT THE HEAD & SILL 9.25” IN FROM THE SNUBBER JAMB CORNER IS TO THE THIRD HOLE IN THE HINGE TRACK. USE
A #8 X 2 1/2" PHILLIPS FLAT HEAD SHEET METAL SCREW.

. THE DIMENSIONS ON THE SNUBBER JAMB , GOING FROM THE TOP DOWN AT 8.5” 32.5" & 56.0” ARE TO THE
CENTER LINE OF THE ALIGNMENT SNUBBERS. THE SNUBBERS ARE ATTACHED TO THE FRAME AT THE BUCK WITH (2), ITEf\’A #18 A
#8 X 2 1/2" PHILLIPS FLAT HEAD SHEET METAL SCREWS IN THE TOP AND BOTTOM HOLES AND ITEM #23 A #8 X 3/4" PHILLIPS

FLAT HEAD SHEET METAL SCREWS IN THE TWO MIDDLE HOLES. AT THE MULLION THEY ARE ATTACHED WITH (4) ITEM #23
#8 X 3/4” PHILLIPS FLAT HEAD SHEET METAL SCREWS.

]

[

H
[+
£ £ Re]
¢, 283
o o w <
I .
2 om c [¢]

z o z
[ I— N o=
- .| ] .
[ el ui
m& M u 0~
= Z Q9 - 0
§ Xth & i
] T
E 258,35\
3a>no< E
0 Z O 0
a oM EB 7]
o« g

c [ [ N
Soxz®g v
£z 0 c
$5%¢ g s
2 3. < o
U S o @ c
> DML Ow >
Ww oo o ~
w
©
3
o
o
|-
19

el
(o]
N

Ry

Apnreved as complying with the
k B [£]
Fiorida Buiding Code

104t Q4 0915, 01

Mium! Dade Pyoduct Contral
suisio

By

)
(&) =
=>=8 o
S =

O
= <T
=2 8
ZE, 9
= .
Saold o
L'-'L"'C)z =
o= &
Sl 0 O
9ol T

=83 Q

55 Ts 2

= o

o &

14 <C

o o

B
Plo
%)
] B =<
o
B @&
mR
Wi |
)
<
o
s
L
o
[35)
2
o) =
\<(
[
O
=

DATE: 8/25/03

scate:  N.T.S.

DWG. BY: ROF

CHK. BY: RwW

DRAWING NO.:

5-2379

sHEET _6 oF 8




" BILL OF MATERIALS

669" —

4.538"

—E=
=¥
R

LARGE MULLION COVER #IV1558
EXTRUDED VINYL .079 MiIN.

1.430"

~—— 2.467" —

— 1.866" —

—- 2.50"

ITEM DESCRIPTION MATERIAL
1 |EXTRUDED VINYL CASEMENT WINDOW FRAME BY VEKA VINYL

2 |EXTRUDED VINYL GLAZING BEAD BY VEKA VINYL

3 |EXTRUDED VINYL CASEMENT SASH BY VEKA VINYL

4 |#10 x 2" PHILLIPS FLAT HEAD SHEET METAL SCREW STEEL

S |GLAZING COMPOUND NATIONAL STARCH PERFECT GLAZE 938a | SILICONE
6 |2X SUB BUCK WOO0D

7 |NOT USED -

8 |1/4” MAX. SHIM MATERIAL WOOD

9 |1X SUB BUCK WwOOoD
10 |GLAZING COMPOUND DOW InstantGlaze WINDOW ASSEMBLY SEALANT/| SILICONE
11 |GLAZING SETTING BLOCK -

12 {SASH BULB WEATHERSTRIPPING EXTERIOR (ULTRAFAB) FOAM
13 |SASH COMPRESSION WEATHERSTRIPPING INTERIOR (AMESBURY)| VINYL
14 |[KEEPER (TRUTH HARDWARE) STEEL
151" INSULATED TEMP/ANNEALED IMPACT RESISTANT GLASS GLASS
16 |ALIGNMENT SNUBBER (TRUTH HARDWARE) STEEL
17 |[ROTO OPERATOR STEEL
18 |#8 x 2 1/2" PHILLIPS FLAT HEAD SHEET METAL SCREW STEEL
18 148 x 3 1/2" PHILLIPS FLAT HEAD SHEET METAL SCREW STEEL
20 |TIE BAR & TIE BAR GUIDE PLASTIC/STEEL
21 |LOCKING SNUBBER (TRUTH HARDWARE) STEEL
22 |#8 x 1/2” PHILLIPS PAN HEAD SHEET METAL SCREW STEEL
23 |#8 x 3/4” PHILLIPS FLAT HEAD SHEET METAL SCREW STEEL
24 |#7 x 1/2" PHILLIPS FLAT HEAD SHEET METAL SCREW STEEL
25 |#8 x 2" PHILLIPS FLAT HEAD SHEET METAL SCREW STEEL
26 |#12 X 3" PHILLIPS PAN HEAD SHEET METAL SCREW STEEL
27 |#8 X 1 1/4” PHILLIPS FLAT HEAD SHEET METAL SCREW STEEL
28 |LARGE MULLION COVER #IV1558 EXTRUDED VINYL .079” MIN] STEEL
29 |LARGE MULL REINFORCEMENTS #16991 6063—T5 STEEL
30 |#8 X 1" PHILLIPS FLAT HEAD SCREW STEEL
31 INOT USED -
3213/16 X 3 1/4” TAPCON ANCHOR STEEL
3313/16 X 2 3/4” TAPCON ANCHOR STEEL
3413/16 X 4" TAPCON ANCHOR STEEL
35 [#10 x 2 1/2” PHILLIPS FLAT HEAD SHEET METAL SCREW | STEEL
36 |#8 X 1 3/4” PHILLIPS UNDER—CUT FLAT HEAD SCREW STEEL

1.063"

U=
&_fgi
il
’T‘
| 1737 I- |

EXTRUDED VINYL CASEMENT SASH
0.078" MAX. WALL
0.051" MIN. WALL

BY VEKA
~
rr) ”
© 5431
o
~— 0.262"

f\j‘\
Al

@EXTRUDED VINYL GLAZING BEAD

0.059" MAX. WALL
BY VEKA

NNANY
SNy
—f— 1.25”

LARGE _MULL REINFORCE

MENT

#16991 6063-T5

No. 9813

BUILDING CONSULTANTS, INC.

P.O. Box 230 Valrico FL. 33595
813.659.9197

Florida Board of Prefessional Engineers

Certificate Of AujMorizatig

Product Evaluation Documents Prepared By:
Phone No.:

Ry

Lyndon F. Schmidt, P.E. NO. 43409

(7]
=z =
5 O(-D (/')z
1.566 2] gX
Z=, s
= s =Z
. ‘FCD =J OLI_
2842 59
. = o=l S
S 1B O
x . B E(Q% < @
0 Lgla ]y =
3 o . |2 .
[Tp] 14 <
. = IL\_) a a
LS 7 i =T
s 0 _l, 2|m
3.163"
3.273"
EXTRUDED VINYL AWNING FRAME R %
0.078” MAX. WALL El &
0.057" MIN. WALL | I
BY VEKA wl |
)
<
|2
o
Ld
a
)
2l
Ol=
SIS
o
—|=
DATE: 8/25/03
complying with the SCALE: N.T.S.
3ELE »C‘l}dg DWG. BY: ROF
CHK. BY: RW
DRAWING NO.:
S-2379

SHEET 7 oF 8




— 2.09" -—1

10/16/03

gn 9,
EXTRUDE VINYL & Y
’ MULL REINFORCEMENT MULL COVER PR LA
[} 1N <]
[~ = Z .
. SEE DETAIL "A” 2R Eql 2
:% SHT. 8 o (n'“—l-e %‘,:.3 ui
N 25 oS8 (AT
e s O (N
l L~BRACKET LR E IV
. $g85 g8
L=BRACKET Eoxs8d o
t %m 0 8¢ £
2 g S s T t e
2 Becamo 2
BASE PLATE E §
MULL REINFORCEMENT — 2
(4) #10 x 27 o @%
SHEET METAL SCREW
EXTRUDED VINYL
MULL COVER o <
Eiin =
o8 W
22 37
ZS, =
— > 5l5 BY
oz o I
L—BRACKET L—BRACKET IS ATTACHED SE=8 88
/ TO VINYL MULL COVER L ERYE B2
& MULL REINFORCEMENT GlasT g <
USING RIVETS -OR BARREL NUTS 2 N
2PLCS EACH L—BRACKET =) o
REFER TABLE 1 o o
BASE PLATE DETAIL "A” =
PAK—WIK SPACER 1" x
) 1/2" x 1/4" THK. MAX.
" (4) REQ. (2) AT TOP &
BASE PLATE %)
A T O (2) AT BOTTOM E 2
6” m
o |2
625" — J— » Z o
. T—— 1.9 ‘ T.szs Wi e
<C
[
— — &
Lt
[a T
rl)
Y Sl
3 @‘g
N N o
& & @ @ | o[
ASSEMBLED MULL AND ATTACHMENT VIEW \ "\z‘
pate: 8,/25/03
75" 75" 75" 75" scue  N.T.S.
_ DWG. BY: ROF
REINFORCEMENT BASE PLATE DETAIL CHK. BY: .RW
060" MIN. STEEL DRAWING 1O~
5-2379
SHEET 8 of _8




